PHYSICSIII
Dr. Joenathan — Winter 2001

Homework V111

Chapter 27

27-11, 15, 25, 43, 55, 63

27-11.

27-15.
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AV, = 1,R =(0.800A) (9.00Q) = 7.20V
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o AV, 240V
* R+R, 6.00Q

=0.400A

AV, = 1,,R, = (0.400A) (4.00Q) =1.60V
AV, =1 ,R, = AV, —AV, = 2.40V —1.60V = 0.800V

AV, = 1,R, = (0.800A) (3.00Q) = 2.40V



27-25.
g-1,R-&-1,R+&,-1,R, =0
g, +1,R, —1,R, =0
At junctionnear positiveterminalof €,: —1,+1,+1,=0
L(R+R)+I,Ry=¢ +¢, - &
(14.0x10° Q) 1, +(2.00x10° Q) 1, =8.00V

Ist - |3R4 =&,
(2.00 x 10° Q)l 5~ (4.00x 10° Q)l 3= 4.00V

|, =4.35x10"A
|, =957x10"A

|, =-522x10™"A (1, is5.22x10* Abut inthe directionoppositeto that shown)

P, =I2R, =(5.22x107* A)*(4.00x10° Q)
=1.09%10°W

Pe, =¢€,1, =(400V)(9.57x10™* A)
=3.83x10°W

AV, =1,R =(4.35%107*A) (6.00x10° Q)

=2.6V



27-43.
@ |
gq=Ce(l-e"'"°);R=R +1.00M Q
8.00x107°C

-t|RC
e

=1-9 =1

t = —R'C1n(0.200)

_ t _ 160.s
C1n(0.200)  (20.0x107°F)1n(0.200)

=4.97x10°Q

R=R-1.00x10°Q =3.97x10°Q

(b)

-120.s
- (500 V)%m.w x10°0Q)(20.0 x10°°F)

]

=119.V

27-63.
&-11R-¢+I;R -¢,=0
&-LR-1,R +¢,-1,R, =0
At junction on negativesideof €,;1, —1,+1,=0

|1R.L_|3R3 =& 7E&,7¢&;

- - =0.200
Ce (20.0x107° F) (500.V)



(20.0Q) 1, - (8.00Q) I, = 4.00V
LR, +1,R, +1,R, =¢, +¢,
(10.0Q) 1, +(8.00Q) I, =10.0V
|, =0.345A

|, =0.709A

|, = 0.364A



